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General Instructions:

I. This question paper consists of 6 pages with 39 questions divided in 5 sections.

Ii. All questions are compulsory. However, an internal choice is provided in some questions. A
student is expected to attempt only one of these questions.

iil. Section A consists of 20 objective type questions carrying 1 mark each.

Iv. Section B consists of 6 Very Short questions carrying 2 marks each. Answers to these
questions should be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions carrying 3 marks each. Answers to
these questions should in the range of 50 to 80 words

vi. Section D consists of 3 Long Answer type questions carrying 5 marks each. Answers to
these questions should be in the range of 80 to 120 words.

vil. Section E consists of 3 case-based units of assessment of 4 marks each with sub-parts.

. (c)Decomposition reaction
d)Reduction reaction _ _

(c) both ionic end and carbon chain are in the interior of the cluster.
‘ I (d) both ionic end and carbon chain are on the exterior of the cluster.
3

1. [A red brown gas is released along with oxygen and lead oxide un_heating lead nitrate. Itisan |1 |

| example of :
(a)Combination reaction
(b)Oxidation reaction

2s In the soap micelles

the ionic end of soap is on the surface of the cluster while the carbon chain is in the
interior of the cluster.

(B) ionic end of soap is in the interior of the cluster and the carbon chain is out of the cluster.

The process in which a carbonate ore is heated strongly in the absence of air to co -
into metal oxide is called

(a) Roasting
(b) Reduction
(g) Calcination
(d) Smelting

The chemical formula for Plaster of Paris is
(a) CasS0,.3H20

(b) CaS0,.2H20

(g) Cas0,.v2 H20

(d) 2CaS0,.2H20

CsHﬁelu;gs to the homologous series of

(a) Alkynes (b) Alkenes (c) Alkanes (d) Cyclo alkanes

Roots of plants are:

| (3) positively geotropic (b) negatively geotropic
() positively phototropic  (d) None of these

Bryophyllum can be propagated vegetatively by the

(a) st_n_z-._m k. (I__J_] Ieif _[c)_ root (d) flower
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A trait in an organism is influenced | by 1
(a) paternal DNA only (b) maternal DNA only | DNA
(c) both maternal and paternal DNA  (d) neither by paternal nor by materna

t from a point source incident on it?

Which of the following can make a parallel beam of ligh
(a) Concave mirror as well as convex lens
(b) Convex mirror as well as concave lens
(c) Two plane mirrors placed at 90 degree to each other

10. | First link in any food chain is usually green plants because

(a) they are widely distributed

(b) they are fixed at one place in the soil

(gj they alone have the capacity to synthesize food using sunlight
(d) there are more herbivores than carnivores

11. | Why do magnetic field lines never intersect each other.
OR
What does the closeness of field lines in a magnetic field signify?

12. | At noon the sun appears white as I

(a) light is least scattered.

(b) all the colours of the white light are scattered away.
(c) blue colour is scattered the most.

(d) red colour is scattered the most.

13. | Electrical resistivity of a given metallic wire depends upon
(a) its length
(b) its thickness
(c) its shape
(drhature of the material

14. [Which of the following is a logical sequence of food chain
(a) producer — consumer — decomposer
D) producer — decomposer — consumer
C) consumer — producer — decomposer
(d) decomposer producer — consumer

Roots of the plants absorb water from the soil through the process of:
10,

(a) diffusion  (b) transpiration (c) osmosis (d) None of these

Which of the following are energy foods?

(a) Carbohydrates and fats (b) Proteins and mineral salts
c) Vitamins and minerals (d) Water and roughage

Question 17 to 20 consist of two statements - Assertion (A) and Reason (R). Answer
questions by selecting the appropriate option given below: )

(a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true but R is not the correct explanation of A
(c) Ais true but R is false
(d) A is false but R is true
17,0 Assertion: AgBr Is used on photographic and X-ray film.
‘ Reason: AgBr is photographic and changes to Ag and bromine in p
undergoes decomposition reaction. o

rich in blood. |
Reason: These villi have a large surface area to hel
digestion of food.
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19. | Assertion: The strength of the magnetic field at the centre of a circular coll of a wire

9 depends on the radius of the colil.

Reason: The strength of the magnetic field at the centre of a circular coll of a wire depends
on the number of turns of the wire in the coil.

20..| Assertion: The phenotype of a dominant gene expresses In the presence of another gene of

that character.
Reason: Dominant gene is represented by a small letter e.g; t

e - __SBECTION-% = ]
1. | A cylindrical coil is connected to a battery as shown below. _ 2
(a) How does the magnetic field at point P compare with the magnetic field at point Q7Justify.|

"'|||r- I

o o

(b) State one way in which the strength of the magnetic field inside a current carrying coil
can be changed?

Write the chemical formula and name of the compound which is the active ingredient of all
alcoholic drinks. Write chemical equation and name of the product formed when this
compound reacts with -

| (a) Sodium metal
(b) hot concentrated sulphuric acid.

23. | Write two differences between an_ary fission and multiple fission.

| 24. | A Mendelian experiment consisted of bre-ea'ing pea plants hearir{g violet flowers(VV)

plants bearing white flowers(vv). What will be the result in F1 progeny?

| 25. I What do you understand about homologous series ? L 7
Write the molecular formula of the first two members of homologous series having functiona

group -OH.
26. | Write the molecular formula of the following compounds and draw the electron dot
structures: (a) Ethane (b) Ethanal

—f

 TAON ~
27. | How is ozone formed in the upper atmosphere ? State its importance. What is respo
for its depletion ? Write one harmful effect for ozone depletion,

(a) Rupal suffers from myopia. Where would the image form in her eye?
b) Name the type of lens that is generally used to correct myopia.
(c))Explain with the help of a diagram.

st three technigues that have been developed to prevent pregnancy. Whic
techniques is not meant for males? How does the use of these techniques ha

Give reasons for the following:
(i) Element carbon forms compounds mainly by coval
(i1) Diamond has high melting point. "
(ill) Graphite is a good conductor of electricity,

How is washing soda prepared from sodiu ey
the type of hardness of water which can be rem

Balance the following chemical reac
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. (ii) NaOH + H;S0. — Na,SO, + H,0

ili) NaCl + AgNO; — AgCl + NaNO
Give reason for the following: 3
(i) Hydrogen gas is not evolved when most of the metals react with nitric acid.

(if) Zinc oxide is considered as an amphoteric oxide.
(lif) Carbon shows versatile nature.

SECTION =D
(a) Name the organs that form the excretory system in human beings. 5
(b) Draw the structure of a nephron. Describe in brief how urine is produced in human body.
(a) State and explain Ohm's law. 5

(b) Define resistance and give its SI unit.

(c) What is meant by 1 ohm resistance?

(d) Calculate the resistivity of the material of a wire of length 1 m, radius 0.01 cm and
resistance 20 ohms.

A spherical mirror produces an image of magnification -1.0 on a screen placed at a distance |5
of 30 cm from the pole of the mirror.

(i) Write the type of mirror in this case,

(ii) What is the focal length of the mirror?

(lii) What is the nature of the images formed?

(iv) Draw the ray diagram to show the image formation in this case.

SECTION - E

37 I Read the following and answer the questions: R
Atmospheric refraction is the phenomenon of bending of light on passing through earth’s
atmosphere, As we move above the surface of earth, density of air goes on decreasing.
| Local conditions like temperature etc. also affect the optical density of earth's atmosphere.
On account of atmospheric refraction, stars seen appear higher than they actual are;
advanced sunrise; delayed sunset, oval appearance of the sun at sunrise and sunset; stars
twinkle, planets do not.
Q.1- Due to atmospheric refraction, apparent length of the day
(a) Increases (b) decreases  (c) remains the same (d) all of these
Q.2- Apparent position of the star appears raised due to
(a) atmospheric refraction  (b) scattering of light
(c) both (a) and (b) (d) none of these
. Q.3.- The sun appears oval shaped or flattened due to R
(a) dispersion (b) scattering  (c) atmospheric refraction ~ (d) ca
Q.4- Twinkling of stars and non-twinkling of planets is accounted for by
(a) scattering of light (b) dispersion of light
(c) atmospheric refraction (d) none of these

Read the following and answer the questions:
Plants perform chemical coordination for various activities with the he
Different hormones are produced by plants. These are the chemical compot
stimulated cells that diffuse to various locations in plants performing diff
There Is a hormone that is synthesized in the tip of shoots. When ligr
side of the plant, this hormone diffuses towards the shady sic
concentration stimulates the cells to grow longer on the side of the sh
light Thus, the plant appears to bend towards light while grow
(1) The name of the hormone being described Is: il

(a) Auxin  (b) Gibberellin (c) Cytokinin (d)
(2) The movement of shoot towards light is knowr

(a) Chemotropism  (b) Phototropism (€
(3) A young plant receives sunlight from one
and shoots? |
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a) The shoot of the plant bend towards li_ght whereas roots bend away
((b)) The shoot of the plant bend towards light whereas roots also bend toward sunlight
(¢) The shoot of the plant bend away from the light whereas roots bends toward sunlight

d)Bothb &c
(é) %‘he stimulus in growth of pollen tube ovule during fertilization is :

(a) Pollen _(b) Chemical c) Light d) Water

39, | Read the given passage and answer the questions-
Sex determination is the method by which distinction between males and females Is

established in a species. The sex of an Individual is determined by specific chromosomes.
These chromosomes are called sex chromosomes or allosomes. X and Y chromosomes are
called sex chromosomes. The normal chromosomes other than the sex chromosomes of an
individual are known as autosomes.
| Q.1- In XX-XO type of sex determination
(a) females produce two different types of gametes
(b) males produce two different types of gametes
| | (c) females produce gametes with Y chromosome

(d) males produce gametes with Y chromosome.
Q.2- A couple has six daughters. What is the possibility of their having a girl next time?
| (a) 10% (b) 50% (c)90% (d) 100% |
Q.3- Number of autosomes present in liver cells of a human female is

(a) 22 autosomes (b) 23 autosomes (c) 22 pairs (d) 23 pairs.
Q.4. XX-XO type of sex determination and XX-XY type of sex determination are the
examples of

(a) male heterogamety (b) female heterogamety
(c) male homogamety (d) None of these
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